
 

 

 
 

vy;yh tpdhf;fSf;Fk; tpilaspf;F 

01. 2>5> 8 …….vd;Dk; $l;ly; tpUj;jpapy; Vohk; cWg;igf; fhz;f?  

  

   

02. 3 kdpjh;fs; Nrh;e;J 4 ehl;fspy; Fwpj;j xU Ntiyiar; nra;J Kbg;gh;. 
mt;Ntiyia xU ehspy; nra;J Kbf;f vj;jid kdpjh;fs; Njit? 

 

 

03. Kjyhk; cWg;G (-3) MfTk;> nghJ tpj;jpahrk; 5 MfTk; cs;s $l;ly; 
tpUj;jpapd; Kjy; %d;W cWg;Gf;fisAk; vOJf.  

 

    

 

04. ,j;jpz;k cUisapd; tisNkw;gug;gsitf; fzpf;f    
    
 

 

 

  

     

05.  

,t; Miur;rpiwapd; Rw;wsitf; fhz;f. 

 

06. FWf;Fntl;L Kf Miu 7cm ck;> cauk; 13cm ck; cilajpz;k nrt;tl;l 

cUisapd; fdtsitf; fhz;f        

20cm 

14cm 

typfhkk; fy;tp tyak; 
 

 
 

fzpjk;     gFjp I A                               Neuk; -1 kzpj;jpahyk; 
 
 
 
 

f.ngh.j (rh/j) –2019 
gapw;rp ghPl;ir - 02 

 
 

 

450 

14cm 

B 

 

 

 

A 

O 
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07. 
1

3𝑎
+  

2

𝑎
 RUf;Ff. 

         

08. 3𝑥 − 1 = 8 jPh;f;f. 

       

09. fhuzpg;gLj;Jf:  a2 + 3a + 2 

         

10. 12a2b>6ab2> 2ab nghJ klq;fpd; rpwpaijf; fhz;f.  

 

   

11. 
3

𝑥
−  

1

2𝑥
 RUf;Ff. 

          

12. jPh;f;f 
𝑎

3
+ 2 = 5  

 

       

13.  x  If; fhz;f 

 

 

 

 

           

14. Kf;Nfhzpfs;>𝑃𝑄𝑅, 𝐴𝐵𝐶 ; vd;gd ve;epge;jidapd; fPo; xUq;fpirAk; 

 
 
 
; 
 

 

 

 

 

 

 

15. a ,d; gUkd; ahJ?  

A 

C 
B 2x0 

3x0 

300 

300 

P 

R Q 

A 

B 

C 

P 

a0 
550 

R 

Q 
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16. √17,d; ngWkhdk; MdJ vt;tpU KO vz;fSf;fpilapy; mike;Js;sJ? 

 

 

 

17.  

 

 

 

 

 

∆ 𝐴𝐵𝐶Ak;>∆ 𝑃𝑄𝑅 ck; xUq;fpirAk; re;jh;g;gj;ij vOJf.  

  

 

18. A�̂�B ,w;F rkdhd Nfhzj;ij ∆ PQR ,y; ,Ue;J vOJf. 
 

 

 

 

 

 

 

 

  

 

19. Kf;Nfhzk;A𝐵𝐶,y; BC MdJ  D tiu ePl;lg;gl;Ls;sJ a apd; 
ngWkhdj;ijf;fhz;f  

 

 

 

 

 

20. nrt;tl;l cUisapd; fdtsT 540cm2> FWf;Fntl;LKfg; gug;gsT 36cm2 

mt;TUisapd; cauj;ijf; fzpf;f.  
 
 

5cm 

A 

B 

C 

5cm 

P 

Q R 

A 

B 
C 

120
0 

70
0 

a
0 

D 

A 

B 
C 

P Q 

R 
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21. ∆𝑃𝑄𝑅  ,y; PR= QR> P�̂�Q = 800 MFk;.y ,d; ngWkhdj;ijf; fhz;f 
 

  
 
 
 
 

 
 

22. ∆𝑃𝑄𝑅 ,y; gf;fk; PR MdJ S tiuAk; ePl;lg;gl;Ls;sJ. Q�̂�R = a, Q�̂�S = b, 

P�̂�R=c  vdpd; b ,id a, c rhh;gpy; jUf. 

           

 

 

 

 

 

 

 

 

23. epow;whj gpuNjrj;ij njhilf;Fwpg;gPl;by; vOJf 

 

 

           

 

 

24. A>B vd;gd ,uz;L rhuh epfo;r;rpfs; MFk;. P(A) =
2

3
> vdTk;  P(B) =

1

2
MfTk; 

,Ug;gpd; P(A ∩ 𝐵) ,idf; fhz;f. 

 
 
 
 
 
 

 

25. 07> 10> 10> 12> 16 vDk; vz; guk;gypd; ,iliaf; fhz;f?  

 

P

O 

Q R 

S 

a 

c 
b 

P

O 

Q R 800 

y0 

A B 

𝜀 
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vy;yh tpdhf;fSf;Fk; tpilaspf;Ff. 

01) – 
(a)  5> 8> 11> 14 …... vDk; $l;ly; tpUj;jpapd;  
I. nghJ tpj;jpahrj;ijf; fhz;f. 

 

II. ,t; tpUj;jpapd; 20 Mk; cWg;G ahJ? 

 

 

 

III. ,t; tpUj;jpapy; 92 vj;jidahk; cWg;ghFk;? 

 

 

 

(b) Kjy; cWg;G (-2) MfTk; nghJ tpj;jpahrk; 5 MfTk; cs;s $l;ly; 
tpUj;jpapd; Kjy; ehd;F cWg;Gf;fisAk; vOJf. 

 

 

(1 + 3+ 3 + 3) 
 

02) – 

a) RUf;Ff. (
1

3
+  

2

5
) ,d; 

3

4
 

 

 

 

typfhkk; fy;tp tyak; 
 

 
 

fzpjk;     gFjp I B                            Neuk; - 1 kzpj;jpahyk; 

f.ngh.j (rh/j) –2019 
gapw;rp ghPl;ir - 02 
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b) kjpy; xd;iw fl;b Kbg;gjw;F 8 kdpjh;fSf;F 6 ehl;fs; Njitg;gLfpd;wJ 
vdj; jpl;lkplg;gl;Ls;sJ. 

I) ,t; Ntiyapd; msT vj;jid kdpj ehl;fs; 

 

,t; Ntiy Muk;gpj;j %d;W ehl;fs; Kbe;j gpd; RfaPdk; fhuzkhf 
,Uth; Ntiyf;F r%fkspf;ftpy;iy. 

II) %d;W ehl;fspYk; nra;J Kbf;fg;gl;l Ntiyapd; msT ahJ? 

 

 

III) vQ;rpAs;s Ntiyia kPjpahf cs;s kdpjh;fs; vj;jid ehl;fspy; 
Kbg;ghh;. 

 

 

IV) Fwpj;j Ntiy Kbtila jpl;lkplg;gl;l ehl;fspYk; ghh;f;f vj;jid 
ehl;fs; Nkyjpfkhf Njitg;gl;;lJ> 

 

(3 + 2+ 2 + 2 + 1) 

 

03) cUis tbthd %baw;w ghj;jpuk; xd;wpy; 15cm cauKilajhf ePh; cs;sJ. 
mUfpy; fhl;ba cUit mtjhdpj;J tpil jUf. 

I) cUisapd; mbapd; Miu vt;tsT? 

 

II) mbapd; gug;gsT ahJ? 

 

 

III) cUisapd; tisgug;gsT ahJ? 

 

IV) ghj;jpuj;jpd; GwNkw;gug;gsT ahJ? 

 

V) ghj;jpuj;jpy; cs;s ePhpd; fdtsT ahJ? 

 

(1 + 2+ 3 + 1 + 3) 

 

14cm 

25cm 
15cm 
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04) ngl;b xd;wpy; rh;trkdhd %d;W ePyepwkhgps;fSk; ,uz;L rptg;G epw 
khgps;fSk; cs;sd. ,jpypUe;J vOkhw;whf Xh; khgps; vLf;fg;gl;L epwk; Fwpj;j 
gpd; kPz;Lk; ngl;bapDs; ,lg;gl;L ,d;Ndhh; khgps; vLf;fg;gl;L epwk; 
Fwpf;fg;gLfpwJ. 

I. epfo;r;rpf;fhd khjphpntspia jug;gl;Ls;s 
nea;ahpapy; Fwpj;Jf; fhl;Lf. 

 

 

 

 

 

 

 

II. vLf;fg;gl;l ,U khgps;fsJk; xNu  
epwKilajhf ,Ug;gjw;fhd epfo;jfT 
ahJ? 
 
 
 
 
NkNy jug;gl;l epfo;r;rpf;fhd khjphpntspia G+uzkw;w khjpg;glk; 
fhl;LfpwJ. 

III. kuthpg;glj;jpy; nghUj;jkhf ngWkhdq;fis Fwpj;Jf; fhl;Lf. 

 

 

 

 

 

 

 

IV. ,U jlitfSk; NtWgl;l epwk; fpilg;gjw;fhd epfo;jfT ahJ? 

                                                                                       

                                                                                                                              (3 + 2+ 3 + 2) 

2t
J
 
j
l
i
t
 

1tJ jlit 

1tJ jlit 

ePyk; 

rptg;G 

ePyk; 

ePyk; 

rptg;G 

rptg;G 

2tJ jlit 
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05) rpw;Wz;br;rhiy xd;wpy; 50 ehl;fspy; gad;gLj;jg;gl;l mhprpapd; msT njhlh;ghf 
ngwg;gl;l jfty;fs; G+uzkw;w ml;ltiz jug;gl;Ls;sJ. 

 

mhprpapd; msT 

(Kg) 
eLg;ngWkhdk; (x) ehl;fs; (f) fx 

51 – 55 ------- 3 ------- 

56 – 60 ------- 8 ------- 

61 – 65 63 9 567 

66 – 70 ------- ------- ------- 

71 – 75 ------- 10 ------- 

76 - 75 ------- 8 ------- 

∑ 𝑓= 50 ∑ 𝑓𝑥 = ……….. 

 

I) NkNy jug;gl;l ml;ltizapy; fhzg;gLk; ntw;wplq;fis nghUj;jkhd 
Kiwapy; G+uzg;gLj;Jf. 

II) rpw;Wz;br;rhiyapy; ehnshd;wpw;F gad;gLj;jg;gl;l mhprpapd; mstpd;        

,ilg;ngWkhdj;ij fpl;ba kg ,y; fzpf;f. 

 

 

 

 

 

 

 

III) tpdh II ,y; ngw;w tpilia gad;gLj;jp xU thuj;jpw;F Njitahd msit 
kjpg;gpLf. 

(5 + 3 + 2) 
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